10.

11.

POLITICAL SCIENCE

Which one of the following is not an element of state ?
(a) Population (b) Religion (c) Territory (d) Sovereignty

According to Marxism

(a) State is a class-structure.

(b) State represents only the workers.

(c) State represents the entire community.
(d) State is the soul of the government.

The word ‘sovereignty’ has been derived from Latin word
(a) Supreme (b) Soviet (c) Statute (d) Supranus

Which one of the following famous books is written by John Austin ?
(a) The Web of Government

(b)  Origin of the Family, Private Property and the State

(c) Lecture on Jurisprudence

(d) The Modern State

Which one of the following thinkers emphasised on both the negative and positive sides
for understanding the real meaning of liberty ?

(a) J.S.Mill (b) F.A.Hayek (c) Isaiah Berlin (d) T.H. Green

Which one of the following books is not written by Plato ?
(@) The Republic (b) The Statesman (c) The Laws (d) Constitutions

In Manusmriti the nature of state is
(a) Organic (b) Economic (c) Legal (d) Political

What was the basis of appointment of Council of Ministers according to Kautilya ?
(a) Merit (b) Hereditary (c) Pleasure of King (d) None of these

Who among the following has considered that Kautilya’s Mandal Theory was based on
balance of power ?

(a) B.A.Saltore (b) K.P.Jaiswal (c) Beni Prasad (d) A.S. Altekar

Which one of the following is the writing of Marx and Engels ?
(a)  Origin of Species (b) The Essence of Christianity
(c) German Ideology (d) Historical Inevitability

According to Marx, history is the product of

(a) Material forces

(b) Religious forces

(c) Political forces

(d) Combination of material, religious and political forces
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10.

11.

Teife s
fedasN g @ U hIae T8 8 ?

(a) SHEET (b) od (c) Y-wm (d) e
HISRIETE o 3TIR -
(a) TSI Th T-FEATR | (b) ST shaed IR o1 Tfaffrea St 2 |

) T RUGEHE H w2 | (d) TSI TR 3T |
FEIYAT Teg Afe AT % o wreg A freper B 2

(@) G (b) wiferra (c) WS (d) g
freferfaa & & wi o gRig T S 3R g Rt T R

@) T3 31 Te

(b) ST 31T ¢ Hitrehl, TTsae ITudl we g we

(c) orEE 3 R

d) fouedwe

=1 @ 9 Topm o Tomaep 3 Toqaa & arEdtas 31 @ TmeE & foie 35 gl ANYTes T
GhTTcHeh Tl I e feam 7
(a) JA.wE. 5 (b)) UH.U ECH (c) sEEeEf () . W

=1 4 9 o i woh fohdTe widl g e ferei e @ 2

(a) gfufsTs (b)) WM (c) TdAS (d) HiEII
I H TS 1 W& © -
(a) Hreet (b) ATfm (c) I (d) TSR

ifeed o SgaR uhrafuyeg & afy 6t fyfe o wm samen
(a) A (b) ST (c) TSIl SIHUT W (d)  STH & IS &

=1 i @ fope w6 hifeea o1 wuea fagia wifdd dvger W amamia @ 7
(2 WU EeRR (b)) &9 IEEaE  (¢)  SHITER (d) T.TH. el

1 5 & i =t i HTed Ul Uorew hl R 7
(a) ST 3176 S (b) T wa 3ife Brvaare
(c) STHA SATSfETTeATSH ) feifera sufaefafad

TR < HTIER, SfdEE 39 2,

(a) Miferes Srferat =1

(b)  @fties wiferaa ot

(c) TSHIfes Srfeaa

(d) ifces, et wa Totifdes it o afrsor o1
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12. Which of the following works is written by Lenin ?
(a) Materialism and Empirio-criticism
(b) Three who made Revolution
(c) The Patterns of imperialism
(d) Soviet Marxism : A Critical Analysis

13. 'Who among the following is known for cultural revolution ?
(a) Lenin (b) Mao (c) Stalin (d) Gorbachev

14. 'Who among the following has called Sarvodaya as people’s socialism ?
(a) Acharya Kriplani (b) M.N. Roy
(c) Mahatma Gandhi (d) Jaiprakash Narayan

15. 'Who among the following had protested against the Communal Award of 1932 ?
(a) M.K. Gandhi (b) B.R.Ambedkar (c) B.G. Tilak (d) M.G. Ranade

16. Which of the following works is not written by B.R. Ambedkar ?
(a) Who are the Shudra ?
(b) States and Minorities
(c) The Untouchables, Who are They ?
(d) Wheel of History

17. Who said that ‘Liberty is the opposite of over government’ ?
(a) J.S.Mill (b) Seeley (c) Laski (d) Locke

18. 'Who among the following has coined the term ‘POSDCORB’ ?
(a) L.D.White (b) Luther Gulick (c) Oliver Sheldon (d) Ordway Tead

19. The provision for All India Services is made in
(a)  Article 260 of the Indian Constitution
(b) Article 312 of the Indian Constitution
(c) Article 315 of the Indian Constitution
(d) Article 300 of the Indian Constitution

20. Lal Bahadur Shastri Administrative Academy is located at
(a) Mussourie (b) Nainital (c) Haridwar (d) Bhowali

21. Which one of the following is not the feature of Indian Federal System ?
(a) Division of powers (b) Leadership of the President
(¢)  Written Constitution (d) Independent Judiciary
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20.
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frdasn@ipafFgufadi e ?
(a) Bfefafasn w srifafwdfasa (b) off g We Ty
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1 5 9 i ek shifet & fau ST ST 2 2
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(a) B AT ? (b) TIH TUS AN

¢) Te3e=seq, gamyg ? (d) B I feeed

forem waT Tor Tadadn Stfawmed o fate @ 7

(@ Sw\.fa b Ho (c) WTEhl (d) T

= o 9 fop “areeehTel’ SIeg I TR 7
(a) TAE ®WECA(b) TRITHT  (¢) IR Aeead (d) 3ImEd AsA

TRaeT TR A3 7 Iooi@ © -
(a) YT AfI9™ & 3788 260 § (b) W AfqeT™ o T 312 1
(c) W Tfaem™ & 31esg 315 0 (d) R Giag™ % 31eeg 300 |

AT BTG ATH TRTE(h TeheH! Erd @ -

(a) wEOH (b) fare ® (c) sigrd (d) wareht &
1 o @ o T R T e i v TE R 7

(a) Ife o1 favmem (b)  TSgHfd T =g

(c) U ferflea wferem (d) eI AR
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23.

24.

25.

26.

27.

28.

29.

30.

31.

Which of the following is not the advantage of direct recruitment ?
(a) It is in consonance with the democratic norms.

(b) It does not lead to competition within the society.

(c) It attracts capable and qualified people.

(d) It has a much wider source of supply.

Who decides to hold Panchayat elections ?
(a) Central Government (b) State Government
(c) Election Commission (d) District Judge

Which one of the following House is presided by a person who is not a member of that
House ?

(a) Lok Sabha (b) Legislative Assembly
(c) Legislative Council (d) Rajya Sabha

How many times has the Financial Emergency been imposed in India ?

(a) Three times (b) Two times (c) Onetimeonly (d) Never

‘Politburo’ is a term associated with

(a) Congress Party (b) Bharatiya Janta Party

(c) Communist Party (d) Samajwadi Party

Under which Article of the Constitution establishment of Inter-state Council was

recommended by the ‘Sarkaria’ Commission ?
(a) Art. 360 (b) Art. 363 (c) Art. 263 (d) Art. 260

The Constitution of Jammu & Kashmir came into existence on
(a) Jan. 26,1955 (b) Aug. 15,1956 (c) Jan. 26, 1957 (d) Aug. 15,1958

The formation of a Constituent Assembly was proposed by
(a) Cripps Mission (b) Cabinet Mission
(c) Wavell Plan (d) Mountbatten Plan

In which year the words, socialist and secular were added to the Preamble of Indian
Constitution ?

(@ 1975 (b) 1976 (c) 1977 (d) 1978

In which part the ‘International Peace and Security’ is incorporated in the Constitution of
India ?

(a) Preamble of the Constitution (b) Fundamental Duties

(c) Directive Principles of State Policy (d) Ninth Schedule
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33.

34.

3s.

36.

37.

38.

39.

40.

Which one of the following fundamental duty is not incorporated in the Indian
Constitution ?

(a) To abide by the constitution and respect its ideals
(b) To safeguard public property

(c) To vote in public elections

(d) To develop the scientific temper

Judicial activism is associated with
(@) Committed Judiciary (b) Public Interest Litigations
(¢) Judicial Review (d) Judicial Independence

The members of a State Human Rights Commission can be removed only by the
(a) The Governor of the State

(b) The Chief Minister of the State

(c) The Chief Justice of the State High Court

(d) The President of India

Which of the following is not a Directive Principle of State Policy ?
(a) Equal pay for equal work by men and women

(b) Equal right to an adequate means of livelihood

(c) Abolition of untouchability

(d) Just and human conditions for work

Under which Article of the constitution the President of India is bound by the advice given
by the Union Cabinet ?

(a) Art.78 (b) Art. 80 (c) Art 81 (d) Art.74

Which year was declared as “Women Empowerment Year’ in Uttarakhand ?
(a) 2005-2006 (b) 2006-2007 (c) 2007 -2008 (d) 2004 -2005

Which one of the following is a common feature of Indian and American Federal System ?
(a)  Three list in the Constitution

(b)  Dual Judiciary

(c) Federal Supreme Court to Interpret the Constitution

(d) Single citizenship

For creation of a new state of the Indian Union, which one of the following schedules of
the constitution must be amended ?

(a) First (b) Second (c) Third (d) Ninth
Sarkaria Commission was associated with

(a) Judicial Reforms (b) Electoral Reforms

(c) Financial Reforms (d) Centre-State Relations
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(c) S fatedt ¥ HagH & |
(d) i G ferenfda e |

1R Gfshadr grafa 2
(a) Wideg =TT § (b) “HfgddAGE
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41.

42.

43.

44.

45.

46.

47.

48.

The meaning of Hung Parliament is

(a) Majority of two parties in parliament
(b) Majority of one party in parliament
(c) Majority of three parties in parliament
(d) No party has majority in parliament

Parliament consists of

(a) Lok Sabha

(b) Rajya Sabha

(c) Lok Sabha and Rajya Sabha

(d) Lok Sabha, Rajya Sabha and the President

Who among the following administers the oath of office to the Vice-President of India ?
(a)  Chief Justice of India (b) President of India
(c) Speaker of the Lok Sabha (d) Prime Minister

Which Article of the Constitution gives the power of Judicial Review ?
(a) Art. 13 (b) Art. 14 (c) Art. 19 (d) Art.21

Which of the following pairs is not correctly matched ?
(a) Civil service : Its Problems and Future — E.N. Gladden

(b) Citizen Centric Administration : The Heart of Governance — Second Administrative
Reforms Commission

(¢)  Asian Drama — Gunnar Myrdal
(d) Public Administration in a Time of Turbulence — Frank Marini

‘Line and Staff are characterisation of authority relationship and not departmental
activities.” This statement was made by

(a) Oliver Sheldon (b) Koontz and O’Donell
(c) L.D. White (d) Pfiffner and Presthus

Which of the following pairs is not correctly matched ?
(a)  Unity of Command — Fayol

(b)  Span of Control — Urwick

(c) Hierarchy — Mooney

(d) Delegation — Ferrel Heady

Which of the following statements about the merits of centralisation is not true ?
(a) Centralisation is effective in dealing with emergencies

(b) It avoids duplication of work

(c) Itis suitable for the development of second line of executive.

(d) It enables optimum use of human and capital resources.
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41. Freigp goe 1 ared € -

(a) HTg U < el i 9gAd (b) @& H Tk &l 1 TEHA

(c) GugH fiA goAl b SigHa (d) @we H foret g1 b1 SEHA TE B |
42. HEE I GEATEAI R -

(a) <AHEWH (b) TAFAE

(c) < G Ug T T H (d) I T, T T T TsUfd &

43. WA o IU-TSZAfel ol U ohl IqY i fearar 2 ?
(a) WA ol &I =T (b) LA T ST
(c) I T T 37T (d) SumE

44. TR TSR o Sifed HieeT & Jrwid fore FTeae H AR ?
(a) Igede 138 (b)) g 148 (o) ITWE 19" (d) I 21 H

45. T8 @ oF o1 3w e gafad & g ?
(a) Tofoe afdy : 3o Uiserd e R — 3.T4. Toied
(b)  TTIER ST JRITEH: SMEA b1 8ed — fge 1 TeTEi-eh FER SR
(c) TfRR g — TR figs
(d) ufecTeh TSMHfRdeM 39 T 2R 31t etget~a - thes Bt

46. T U9 W gar-gadi i faeryar g 7 o6 favmfi foren semdi 6 | 7 wua frae g 7
(a) IAlR e (b)) FAWNEA (¢) T @B (d) fera e

47. frifena o @ i a1 Im o gafera TET R 7
(a)  3ATCW i Tehdl — HATA (b) T 1 foar — 3fde
(c) YgHYH — T (d) it — B &l

48. feAifehd H B I TT U HegiehToT o U % SR H T TE R ?
(a) HERIHT AT & e § a9 B 2 |
(b) TEY I GHIEA & S BT |
(c) I HRITTITeR! i gadt ufert o forepr o foTe Sy 2 |
(d) I8 uHE Td GoliTa e o JTferehan SUENT # U Bl B |
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50.
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52,

53.

54.

SS.

56.

57.

Which one of the following approaches treats decentralisation as an end in itself ?
(a) Doctrinal approach (b) Political approach
(c) Administrative approach (d) Dual-role approach

Span of control has not been affected by which of the following factors ?
(a) Increasing professionalisation in public services

(b) Information Revolution

(c) Over growing use of automation processes in organisations

(d) Growing consensus on a higher span of control in all organisations

Which of the following is not one of the basic features of hierarchy ?
(a)  Unity of command

(b) Multiplicity of direction

(c) Commensurate authority with responsibility

(d) Principle of through proper channel

Which of the following statements about the role of the CAG is true ?

(a) CAG is the instrument of detecting financial oversight

(b) Its functions may be defined by Ministry of Finance at the Union level
(c) CAG’s recommendations may be scrutinised by the judiciary.

(d) CAG functions under the control of PMO

Which of the following is not one of the indicators of good governance ?
(a) Rule of law (b)  Elimination of corruption
(c) Effective and Response governance (d) Bureaucratic governance

Which one of the following is not a characteristics of New Public Management ?
(a) Localisation (b) Externalisation
(c) Politicisation (d) Debureaucratisation

Who among the following was/were supporters of path-goal theory of leadership ?
(a) Martin G. Evans (b) Robert J. House
(c) None of both (a) and (b) (d) Both of (a) and (b)

Who was the founder of ‘Reward Theory of Motivation’ ?
(a) Peter Drucker (b) F.W. Taylor
(c) McGregor (d) S.E. Finer

‘Morale is an inner-possession of an individual or group’ this statement was made by
(a) L.D. White (b) J.D. Mooney
(c) Dimock & Dimock (d) E.C.Davis
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51.

52.

53.

54.

5S.

56.

57.

forAifeRa o @ e @1 gfeeshivr forchmsfietoT <l 37U 319 § U Ied AT § 7
(a) HaaTe! AT Fagraandl gfeeshiu (b) TSI gfeeehiom
(c) RIS gieeshio (d) SrEd-yfient g

frifera o & fopmm formor & & ot wfera 1€ fepa 2 2
(a) AT Q3T | et 55 STadTriehdr 3

(b) FeATSHI A

(c) HTS § Tefetd ishaTaTi & 3Tfereptferes v 3
(@) G+t Tl § 3= e & & W Sed! ud wgAfd 3

foretifend o @ 1 ygEE 1 Hiferes foivarsti 4 € e faemar i @ 2
(a) 3G <hl Tehdl

(b) focwr 1 sgera

(c) IR o 3TTEY Tl

(d) 3fua mrem w5 fage

YT 8 11 <hl firehT 3 SR § Fifehd gere § & i |1 goded Jal § ?
(a) 1 ol ST BT 9T T HT I § |

(b)  3Hh HIAT bl HEAF T W Tort Tarmerd TR ot Tehat 2 |

(c) 1 i TamIfett <ht Sifer =ruTfetent ST Hehdl & |

(d) T, TUTH BT o 3L 1 TR |

frfafaa & & 19 |1 GIHA 1 Hohdsh TEI 8 ?
(a) T T WA (b) WSITEIR <hi FHIfed
(c) el U TfehaTeiet TermeH (d) RIITE J=ITE

far=forfigd 9 @ i € wes forsivdn 7a ofies gsa HI g 2 7
(a) TIFRERE (b) ST (c) TSHIfaeRtor (d) o

J9ea % “vy-wigd faga % e i A A wAes a1/ 9 ¢
(a) I A, gam=g (b) TSI, E=d
(c) QI (a) AT (b) H HI3 &I (d) TEIE (a) TUT (b)

SRS < qEhR fagra’ o UfdTes i o 7
(a) WRIEH (b) THTSR W (c) HAER (d) THEZ. BER

TS Teh SATh 312ET Uh THE hl T=Hed Grafd & T8 HU FraIf-ord & —
(a) TWEL=E (b) A (c) fedtwuwdfenis (d) 3.4 fm
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60.
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62.
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64.

65.

66.

67.

68.

Which year was declared as the First International year for Human Rights by the United
Nations ?

(a) 1963 (b) 1966 (c) 1968 (d) 1970

How many patterns have been indicated by Mortan Kaplan in international political system ?
(a 4 (b)y 6 (c) 8 (d 10

Which part of Asia is known as ‘The Roof of the World” ?
(a) Western Asia (b) South Asia
(¢) South-East Asia (d) Central Asia

The First Disarmament decade declared by the UN General Assembly was
(a) 1950-60 (b) 1960-70 (c) 1970-80 (d) 1980-90

Who said, “No progress is possible in the scientific study of international politics so long
Morgenthau’s theory continues to have influence” ?

(a) Hoffmann (b) Benno Wasserman
(c) Hans Kalsen (d) Quincy Wright

Who said, “Political power is a psychological relation between those nations who exercise
it and those over whom it is exercised” ?

(a) Morgenthau (b) Catlin (c) R.H.Tony (d) Lasswell

What is India’s position regarding NPT & CTBT ?
(a) India has signed both.

(b) India has not signed either.

(c) India has signed NPT but not CTBT.

(d) India has signed CTBT but not NPT.

Who among the following was not a founder member of Non-aligned Movement ?
(a) Nehru (b) Nasser (c) Marshal Tito (d) Fidel Castro

The word ‘Détente’ is derived from the language
(a) English (b)  Spanish (c) French (d) Greek

Who among the following used the term ‘Third World’ for the first time ?
(a) Irwing Horoviz (b) Lester R. Brown
(¢c) E.H. Carr (d) Alfred Sovi

How many member and observer states are in SAARC (2017) ?
(a) 7 members and 10 observers (b) 8 members and 09 observers
(c) 7 members and 09 observers (d) 8 members and 10 observers

Series-A 14 SPU-06



58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

T TS T R hiF |1 ¥ T2 TSR Y < &9 4 =fvyd fopam mam 2

(a) 1963 (b) 1966 (c) 1968 (d) 1970
HIET HTA™ % AR TS T e STEAT o o Ifa@H B & 7
(a) 4 (b) 6 (c) 8 (d 10

TR 1 I A1 WRT G 61 B o A E 1 S g 7
(a) ufgadiulmn (b) efeor ofdEn (¢) cfau-gdufeEm (@) wer e

TR TS 37T AT g T2 - 3refiehor gures =it feharm e
(a) 1950-60 (b) 1960-70 (c) 1970-80 (d) 1980-90

forem g1, “S9 dh AN o TG 1 I9TE &1 T, T deh ST TSI < AT
I T B Tl T TEI R 7
(a) B% (b) S STERES (¢) T HIAE (@) fea=dwse

forem a1, “wifaa o1 SR i aTel qer foraes foaeg wifed spe &t @ 391 &1 g o Usei o
EIEEIR: CICRIEER= L R RUS CI =R O A
(a) TN (b) hefed (c) IMTI.IH  (d) wEIA

WA A A mama h fafa =g ?

(a) W A ST OT g o feu § |

(b) Wa A fepeft w oft e 78 fpu & |

(c) WA A T3, W gEd1er o feu iferd .83 o =i fopu & |
(d) ud 3 @A A gEarer o fer dfert L f A wadi feu E |

= 5 1 e T fRue STieer’ w1 TR Jee T8l AT 7

(a) B (b) RN (c) HEid A d) freet wrg
‘Tar’ wse fopm v B fer TR ® 7
(a) ITSHH (b)y wWHEwd () %aH (d TWsd

el forea’ wreg 1 amT Hewem frferfta o @ forem fomam ¢
() SHENRS (b)) TR AN F8A  (¢) 3.0 R (d) UShs TIEt

HTeh o ferde gew 31T Y&t 2w @ (2017) ?
(a) 7 9eET YT 10 Y&Th (b) 8 HSH qAT 9 UeTeh
(c) 7 9cE q91 9 Y&l (d) 8 FCH q«AT 10 Y&
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

According to Lucian Pye, the characteristics of political development are
(a) Equality (b) Capacity (c) Differentiation (d) All of the above

Which was the first country to withdraw from Nuclear Non-Proliferation Treaty ?
(a) China (b) Cuba (c) North Korea (d) Canada

The only country to withdraw from the membership of U.N.O. is
(a) China (b) Germany (c) Indonesia (d) Ethiopia

Who propounded the system theory first in international politics ?
(a) James Rosenau (b) Charles McClelland
(c) Morton Kaplan (d) Kenneth Waltz

Who among the following is not a supporter of decision-making theory ?
(a) Richard Snyder (b) H.W. Brunk
(c) H.J. Morgenthau (d) Burton Spain

According to Steven Rosen and Walter Jones the most important element of national
power is :

(a) Geography (b) Ideology (c) Population (d) Leadership

According to Morgenthau the most important instrument for promoting national interest is
(a) Diplomacy

(b) Propaganda & Political Warfare

(c) Economic instrument for national policy

(d) War

The first Summit Conference of Non-Aligned Movement was held in
(a) Cairo (b) Delhi (c) Lusaka (d) Belgrade

The tenure of judges of the International Court of Justice is

(a) 3years (b) 6 years (¢) 9 years (d) 12 years
Which Article of Indian Constitution is related to international relations ?

(a) Art.50 (b) Art. 51 (¢) Art.52 (d) Art.53
The MacMohan line lies between

(a) India and Pakistan (b) India and China

(¢) India and Sri Lanka (d) China and Pakistan

Who among the following is not a supporter of ‘Game Theory’ ?
(a) Mortan Kaplan (b)  Arthur Lee Berns
(c) John H. Hertz (d) Richard E. Quandt
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69. IRTE TS % STTER T frehre ot e fordiwamd 2 -
(a) HHMAT (b) FEAAT (c) faudertom (d) I9U Teft

70.  IRHTY] STTHR G § ST S STl JH ¥ iF AT 7
(a) oA (b) & (c) QIR (d) HTE

71.  THHTA <1 T8 e Tsg Tt bl Tt ST TeaTelvr foham 2 -
(a) = (b) AT (c) 3ZUSHRMET (d) 3o

72. TS TS o e fagra gdvem fham ufqurfea foram o 2
() JEISEAR (b)) dTcd HRAAUS  (c) HISH ™ (d) Y deeS

73. = 8 @ i fofa-famtor ufseen fagra = amde 78 2 2
(a) TEREESR (b)) WITH T () TIEIA AR (d) FHATH

74, HEA USH 3R Tee Tid o STTHR TS I 1 T8 eyl 7 & -

(a) e (b) Trameam (c) SHEE (d) g
75. HAF o TTER TS Ted shi ARG 1 T8 HEwqul a9 2 -

(@) TS (b) SRR TE TSI 5

(c) TS Fifa & amfdies wem @ Ig

76. S T FRUE ST i RIGR THieH §371 o7 :
(a) ohIEUH (b) feeett®d (c) TH=RIY (d) <SeUsd

77, HAUSE AT o =TT T hEiehTel gl @ :
(a) 3§ (b) 6TY (c) 9T (d 12980

78. WA WITHT 1 I A1 IS¢ ST T4l & Trafard g ?
(a) ITWES50 (b)) IIBES51 (c) 3T 52 (d) 3= 53

79. HeHiE W@ R 2 -
(a) YA U Tiehtd™ o 0 (b) YA Ud 4 & AEH
(c) WTd Ud Sficiehl o HEg (d) =7 v urfeream & wed

80. T & & wel frgia =1 wmefes TEi 8 7
(a) WARAH (b) IMReftad () IH.TA&A (d) =3 FTee
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81.

82.

83.

84.

8s.

86.

87.

88.

89.

90.

Who said, “To ask the question, whether parties are good or bad, seems very like making
the same inquiry about winds and the tides” ?

(a) Robert Micheals (b) Lowell
(c) Jean Blondell (d) Gilbert

The tenure of the Chief Election Commissioner of India is
(a) Five years.

(b)  Six years or 65 years of age whichever is earlier.

(c) Five years or 65 years of age whichever is earlier.
(d) Six years or 70 years of age whichever is earlier.

Which form of government is also known as ‘Responsible government’ ?
(a) Aristocracy (b) Parliamentary (c) Monarchy (d) Dictatorship

Who among the following has the power to declare a caste or a tribe as Scheduled Caste or
Scheduled Tribe ?

(a) President of India

(b) Parliament

(c) Home Minister

(d) Chairman of the National Commission for Scheduled Castes or Scheduled Tribes

Who gave the concept of ‘Iron Law of Oligarchy’ ?
(a) Mosca (b) Michels (c) Pareto (d) Lasswell

Who among the following is/are associated with Neo-liberalism ?
(a) F.A.Hayek (b) Milton Friedman
(c) Robert Nozick (d) All of the above

Who said, “What Aristotle calls the ideal state is always Plato’s second Best state” ?
(a) Hegel (b) Laski (c) Sabine (d) Green

Who said, “Pressure groups are the anonymous empires” ?
(a) AllanR. Ball (b) Laski
(c) Myron Weiner (d) Finer

The Central concern of Plato’s book ‘Republic’ is
(a) Establishment of ideal state (b) Ideal education system
(c) Interpreting and attaining justice (d) Establishing communism

In Manu’s concept of ‘Virat Purus’ the king contains the powers of how many gods ?
(a) 4 (b) 7 (c) 15 d 8
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81. TorEH g1, “TsHIfas® g1 3128 & I R, 39 T~y H AT Tehal AT 91 &1 g ST 39 T
7 foram 1 o gamd 3R SAR-R TS B d MR 7 7
(a) TS fimew (b)) <Ew (c) S sefieeat @ fres

82. YA o Y& TG Y hi AT & :
(a) 5% (b) 6T AT 65 Y i Y A oft gt &
© sSaAesTWA YA TRAR  (d) 6% A1 70 79 HI Y S oft wEA &

83. I Hl TLHR ! ITERN TR & 9™ & i STEI a1 7

@ FPpoET (b)) FEH (c) Tsrma (d) dETIE
84. frferRaa o & form fereft Sifer = S i freet g2 s = Semfr =nfia e =1 tfespR 2 2
(a) YT o TS o
(b) &G I
(©) ’Eﬂﬂ“[aﬁ

(d) Tt g8 o 31 STt < TS ST o 3Teqe] i

85. ‘3Tcudd ki oiig fem’ firgra ferea feamen 2
(a) TR (b) feiem () W& (d) ESA

86. fr=fafigd # @ 19 T9-3Ierae 8 g=fRE @ ?
() THUBES (b) MeA®mEEAT  (¢) Usd Ao (d) I9U Teft

87. forem gt R, “Sit st o1 31Ted T B, 98 wiel o fydfa mdass = 7 ¢

(a) BNTA (b) ATEh (c) TETE (d W=
88. fohu T, « gaTa HYg I AU & 7

(a) U AR, §1A (b) ATEhI (c) HEE oI (d) THER
89. el i gash ‘Trufeetsn’ 1 b fowar 2

(a) 3TTeY T i T (b) 3est fram wgfa

(c) ¥ <hl SITEAT Ud TTfed (d) THTSETE sl T

90. T % Tolre THY’ i LN § TS & UTE foha- caaraii shi wfad it 2 7
(a) 4 by 7 (c) 15 d 8
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91.

92,

93.

9.

9s.

96.

97.

98.

99.

100.

Who among the following has defined Political Science as Science of Power ?

(a) Bentley (b) Leacock (c) Catlin (d) Laski

Which one of the following rights Locke has not included in his concept of natural rights ?
(a) Right to life (b) Right to liberty

(c) Right to property (d) Right to equality

Which one of the following state is not mentioned in Indian Constitution for special
provisions under Art. 371 ?

(a) Maharashtra (b) Gujarat (c) Tamil Nadu (d) Andhra Pradesh
Under which Article of the Constitution, untouchability was abolished ?

(a) Art. 15 (b) Art. 16 (c) Art. 17 (d) Art. 18

The members of the Public Accounts Committee are elected for a term of

(a) one year (b) two years

(c) three years (d) five years

Which one of the following approaches is based on the belief that the economic base
determines the ideological and political super-structure ?

(a) Historical materialism

(b) Institutionalism

(c) Behaviouralism

(d) Game theory

Who among the following is the author of ‘Political Order in Changing Societies’ ?
(a) Colin Leys (b) Lucian Pye
(c) Samuel Huntington (d) Marion Levy Jr.

The ‘Sleeping Dog’ theory of democratic culture implies that

(a) Low participation indicates broad satisfaction for the government
(b) Low participation indicates alienation and ingrained disadvantage
(c) Post-communist states foster democratic values and expectations
(d) None of the above

Which of the following has removed the difference between Article 32 and Article 226 ?
(a)  Writ Petitions

(b) Judicial Review

(c)  Writ Jurisdiction

(d) Public Interest Litigation

Who is the propounder of monastic theory of sovereignty ?
(a) John Austin (b) Hobbes
(¢) Locke (d) Rousseau
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91.

92.

93.

9.

9s.

96.

97.

98.

99.

100.

1 1 9 fopem il fom o1 wifed o1 for o6 &9 # giTiya foram g 2

(a) o= (b) Tieih (c) hefed (d) wTEhl

ik o Frt Tfereprl # & fopdr 31oeft Sepferen atfeepR <1 STaramon o |fvfera 72 o @ ¢
(a) Sfted 1 3R (b) TITAAT T BRI

(c) T &1 ARBR (d) HHHCT T IR

e wfgem o aftfa fafire saami & q&d sqese 371 @ i=a (= § 9§ forg T o1
AT B ?
(a) WEHTSE (b) TSI (c) dfterTg (d) Y T

Glau™ % fohe 3T=o8 g STEgwIA1 o1 37d fohan T ?
(a) ITWEI5  (b) 3G 16 (c) TR 17 (d) 3= 18

e v | % gew fraffad fore a8
(a) THAHTIT (b) Taisfaw () dHTFHC (d) wETEF U

7 & @ $i9 @1 3urTm 39 fava™ W snuiia @ 6 i snum S=fes awr ueHifas
srfergTeET <Al i s g 2

(a) UfeTiaes Wfderare (b) W@

(c) RN (d) hieT frgm

= 9 @ sl “wiferfesa et 3 Af<m Gemsfes’ % oash 8 7
(a) IfH TS (b) oA IS (c) UgTAEfTed  (d) wIRETH odt 9,

ST SEhId o G Y T i 3R & -

(a) T wgwrfira s & fore 98¢ dame 2 |

(b) = mEwfiar faerme ua stewees g1 w1 3fia St R |

(c) IR ATIATE TSAT 1 ISATAT=eh YT T JTRIEATST T TN |
(d) SWIed T T hIs TE

frfaRad § & foreeh HROT 3T7=09g 32 TUT ITTTHE 226 o &1 1 AL T & T 8 ?
(a) Teafasm (b)) AR gREe () fe i@ (d)  <esfed a1g

TEIAT % Tehed TgT= 1 UfedTesh i & ?
(a) AT (b)) BeH (c) ol (d =4
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